Sr Questions

1 A data storage device is:

2 An example of input device computer is:

3 A device which has two ways communication is:
4 CD which is made of soft material is called:

5 Hard disk is made of:

6 The data stored in C.D is:

7 What does the term e-mail stand for:

8 From which of the following we can get information almost about everything:

Answers Choice

A. <p class="MsoNormal">Printer<o:p>
</o:p></p>

B. <p class="MsoNormal">Hard
disk<o:p></0:p></p>

C.<p
class="MsoNormal">Monitor<o:p>
</o:p></p>

D. <p class="MsoNormal">CPU<o:p>
</o:p></p>

A. <p
class="MsoNormal">Keyboard<o:p>
</o:p></p>

B. <p class="MsoNormal">printer<o:p>
</o:p></p>

C.<p
class="MsoNormal">monitor<o:p>
</o:p></p>

D. <p class="MsoNormal">RAM<o:p>
</o:p></p>

A. <p
class="MsoNormal">Television<o:p>
</o:p></p>

B. <p class="MsoNormal">Radio<o:p>
</o:p></p>

C. <p class="MsoNormal">Hard
disk<o:p></0:p></p>

D. <p class="MsoNormal">Mobile
phone<o:p></0:p></p>

A. <p class="MsoNormal">Hard
disk<o:p></0:p></p>

B. <p class="MsoNormal">Floppy
disk<o:p></0:p></p>

C. <p class="MsoNormal">Iron
disk<o:p></0:p></p>

D. <p class="MsoNormal">Copper
disk<o:p></0:p></p>

A. <p
class="MsoNormal">Aluminium<o:p>
</o:p></p>

B. <p
class="MsoNormal">Copper<o:p>
</o:p></p>

C. <p class="MsoNormal">lron<o:p>
</o:p></p>

D. <p class="MsoNormal">Plastic<o:p>
</o:p></p>

A. <p class="MsoNormal">680
MB<o:p></0:p></p>
B. <p class="MsoNormal">650
MB<o:p></0:p></p>
C. <p class="MsoNormal">700
MB<o0:p></0:p></p>
D. <p class="MsoNormal">750
MB<o:p></0:p></p>

A. <p class="MsoNormal">Emergency
mail<o:p></0:p></p>

B. <p class="MsoNormal">Electronic
mail</p>

C. <p class="MsoNormal">Extra
mail<o:p></0:p></p>

D. <p class="MsoNormal">External

mail<o:p></0:p></p>

A. <p class="MsoNormal">Book<o:p>
</o:p></p>

B. <p
class="MsoNormal">Teacher<o:p>
</o:p></p>
C.<p
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Which of the following is not processing:

For a normal person audible frequency range for sound wave lies between:

The loudness of a sound is most closely related to its:

Astronauts in space need to communicate with each other by radio links because:

class="IMsoNormal">Computer<o:p>
</o:p></p>

A. <p
class="MsoNormal">Arranging<o:p>
</o:p></p>

B. <p
class="MsoNormal">Manipulating<o:p>
</o:p></p>

C.<p
class="MsoNormal">Calculating<o:p>
</o:p></p>

A. <p class="MsoNormal">10 Hz and
10kHz<o:p></0:p></p>

C. <p class="MsoNormal">25 Hz and
25 kHz<o:p></0:p></p>

D. <p class="MsoNormal">30Hz and 30
kHz<o:p></0:p></p>

A. <p
class="MsoNormal">Frequency<o:p>
</o:p></p>

B. <p class="MsoNormal">Period<o:p>
</o:p></p>

C.<p
class="MsoNormal">Wavelength<o:p>
</o:p></p>

A. <p class="MsoNormal">Sound
waves travel very slowly in space<o:p>
</o:p></p>

B. <p class="MsoNormal">Sound
waves travel very fast in space<o:p>
</o:p></p>

D. <p class="MsoNormal">Sound
waves have low frequency in
space<o:p></0:p></p>



